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* PHILOSOPHY
[ General ]
PAPER — III
Full Marks : 90
Time : 3 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary

[ Long-Answer Type Questions ]

Answer any two questions, taking one
from each Group : ; 15x2

GROUP - A

. 1. Whatis Introspection ? What are its advantages
and disadvantages ? Discuss. 3+12
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2. What is forgetfulness ? What are the causes
of forgetfulness ? Is forgetfulness always a

curse ? 2+10+3

3. What is learning ? Explain and examine the
Trial-and-Error Theory of learning. 2+ 8+95

GROUP - B

4. 'Social Philosophy is the meeting point of
sociology and philosophy . . ." (Gisbert). Justify
this statement by mentioning the epistemological
and axiological aspects of social philosophy.
In this connection, discuss the subject-matter of
social philosophy. : 8+7

5. What is 'primary group' ? Distinguish between
primary groun and secondary group. Why is
family called a 'primary group' — Discuss. 3 + 8 + 4

6. What are the characteristics of Representative
Democracy 7 Explain and examine Liberal
Democracy. 3+12
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[ Semi-long Answer Type Questions |

Answer any five questions, taking at lcast two
' from each Group : 8x3

GROUP — A

7. Define perception. Describe the different stages
of the perceptual process. 2+6

8. State and explain the Binet-Simon method
regarding intelligence. 8

9. Can memory be improved by practice ? 8

10. Distinguish between sensation and perception. 8

11. Describe the different types of Attention. 8
GROUP - B
12. Explain the nature of class-consciousness. 8

13. State and explain the characteristic features of
caste system. 8

14. State and explain different types of social codes. 8

UG/H/PHIL/Gen/111/153 - ( Turn Over )



(4)

15. What is democracy ? Explain the concept of
liberty as a democratic ideal. 2+6

16. What is meant by Utopian Socialism ? Why is it
called 'Utopian' ? 6+2

[ Short Answer Type Questions ]

Answer any five questions, taking at least two

from each Group : 4x5
GROUP - A
17. Are Intellect and Intelligence identical ? 4
18. What is conditioned reflex ? 4
19. What is [llusion ? 4
20. How is [.Q. measured ? 4
21. Art;: mind and consciousness co-extensive ? 4
GROUP - B
22. Is family an association or a community ? 4
.23. What is Culture ? 4
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24. What 1s Institution ? 4
25. What is community sentiment ? 4
26. What are the factors of personality ? 4
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